Form P-359 Rev. 12-19-2007

		DESCR	RIPTION:						
1/2 Ton Pick	cups and	d Van			CONTRACT NO.:	H-12-060R		DATE OPENED:	2/22/2012
					_				
					FOB:	Stat	ewide	PAGE:	1 of 8
	Russe	Il Chevrolet C	ompany		<u> </u>				
	<mark>6100 L</mark>	_anders Road							
VENDOR:		ood, AR 721	17						
		oroughs 5-8300							
ITEM NO.	QTY.		EXTENSION	MAKE	MODEL	ENGINE MODEL	DELIVERY	ADDITIONAL UN	IT PURCHASES
1.	49	15,263.00	747,887.00	Chevrolet	Silverado CC10703		120 Days ARO	Through March 22,	2012
2.	6	14,934.50	89,607.00	Chevrolet	Silverado CC10903		120 Days ARO	Through March 22,	2012
3.	20	18,057.54	361,150.80	Chevrolet	Silverado CC10753		120 Days ARO	Through March 22,	2012
4.	11	21,273.60	234,009.60	Chevrolet	Silverado CK10753		120 Days ARO	Through March 22,	2012
5.	1	20,726.40	20,726.40	Chevrolet	Express 1500 CG13406		120 Days ARO	Through March 22,	2012
		TOTAL:	1,453,380.80						
								CARD:	00-25
	A۷	VARDED BY:	Purchasing Comr	nittee		DATE:		3/2/2012	
		ITEM(S):	Complete Bid			_			
	ΑV	VARDED TO:	Russell Chevrolet	Company					

Form P-359 Rev. 12-19-2007

		DESCR	RIPTION:						
1/2 Ton Pick	ups and	l Van			CONTRACT NO.:	H-12-060R	-	DATE OPENED:	2/22/2012
					FOB:	Sta	ıtewide	PAGE:	2 of 8
	P. O. E Pine B Richar 870-53								
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	ENGINE MODEL	DELIVERY	ADDITIONAL UN	IT PURCHASES
1.	49	15,787.00	773,563.00	Chevrolet 2012	CC10703		Approx.75-90 Days	2012 Model Buildou	t
2.	6	15,417.00	92,502.00	Chevrolet 2012	CC10903		Approx. 60-90 Days	2012 Model Buildou	t
3.	20	18,437.00	368,740.00	Chevrolet 2012	CC10753		Approx. 75-90 Days	2012 Model Buildou	t
4.	11	21,527.00	236,797.00	Chevrolet 2012	CK10753		Approx. 60-90 Days	2012 Model Buildou	t
5.	1	20,947.00	20,947.00	Chevrolet 2012	CG13406		Approx. 60 Days	2012 Model Buildou	t
		TOTAL:	1,492,549.00						
								CARD:	00-25
	AV	VARDED BY:				_ DATE:			
		ITEM(S):				_			
	ΑV	VARDED TO:				_			

Form P-359 Rev. 12-19-2007

TABULATION

DESCRIPTION:

1/2 Ton Pickups and Van					CONTRACT NO.:	H-12-060R		DATE OPENED:	2/22/2012
				FOB:	Statewide		_ PAGE:	3 of 8	
Landers Chevrolet P. O. Box 1649 VENDOR: Benton, AR 72015 Rick Layton 501-316-4400									
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	ENGINE MODEL	DELIVERY	ADDITIONAL UN	IIT PURCHASES
1.	49	15,781.00	773,269.00	Chevrolet 2012	Silverado		90 Days ARO	2012 Fleet Order C	utoff
2.	6	15,444.00	92,664.00	Chevrolet 2012	Silverado		90 Days ARO	2012 Fleet Order C	utoff
3.	20	18,472.00	369,440.00	Chevrolet 2012	Silverado		90 Days ARO	2012 Fleet Order C	utoff
4.	11	21,537.00	236,907.00	Chevrolet 2012	Silverado		90 Days ARO	2012 Fleet Order C	utoff
5.	1	20,772.00	20,772.00	Chevrolet 2012	Express		90 Days ARO	2012 Fleet Order C	utoff
		TOTAL:	1,493,052.00						
								CARD:	00-25
	ΑW	/ARDED BY:				DATE:			
		ITEM(S):				-			
AWARDED TO:									

Form P-359 Rev. 12-19-2007

		DESCR	RIPTION:						
1/2 Ton Pick	cups and	d Van			CONTRACT NO.:	H-12-060R		DATE OPENED:	2/22/2012
					- FOB:	Sta	tewide	PAGE:	4 of 8
	P. O. E Pine B Richar 870-53								
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	ENGINE MODEL	DELIVERY	ADDITIONAL UNI	T PURCHASES
1.	49	16,797.00	823,053.00	Ram 2012	DS1L61		Approx.60-90 Days	2012 Model Buildout	t
2.	6	17,757.00	106,542.00	Ram 2012	DS1L62		Approx.60-90 Days	2012 Model Buildout	<u>t</u>
3.	20	18,487.00	369,740.00	Ram 2012	DS1L41		Approx.60-90 Days	2012 Model Buildout	t
4.	11		N/B						
5.	1		N/B						
		TOTAL:	1,299,335.00			•			
			, ,					CARD:	00-25
	AV	VARDED BY:				_ DATE:			
						_			
	Δ۱/	VARDED TO:							

Form P-359 Rev. 12-19-2007

North Point Ford 4400 Landers Rd. VENDOR: North Little Rock, AR 72117 Mike Beard 501-955-7732 ITEM NO. QTY. PRICE EXTENSION MAKE 1. 49 16,297.00 798,553.00 Ford 2. 6 16,550.00 99,300.00 Ford										
1/2 Ton Pick	kups and	l Van			CONTRACT NO.:	H-12-060R		DATE OPENED:2		
					FOB:	State	ewide	PAGE:_	5 of 8	
	4400 L North I Mike E 501-95	Landers Rd. Little Rock, Af Beard 5-7732								
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	ENGINE MODEL	DELIVERY	ADDITIONAL UNI	T PURCHASES	
1.	49	16,297.00	798,553.00	Ford	F150		90 Days ARO	Model Year Buildout	_	
2.	6	16,550.00	99,300.00	Ford	F150		90 Days ARO	Model Year Buildout		
3.	20	19,523.00	390,460.00	Ford	F150		90 Days ARO	Model Year Buildout		
4.	11	21,917.00	241,087.00	Ford	F150		90 Days ARO	Model Year Buildout		
5.	1	22,575.00	22,575.00	Ford	E150		90 Days ARO	Model Year Buildout		
		TOTAL:	1,551,975.00							
								CARD:	00-25	
	AV	VARDED BY:				_ DATE:_				
		ITEM(S):				_				
	ΑV	VARDED TO:								

Form P-359 Rev. 12-19-2007

		DESCR	RIPTION:						
1/2 Ton Pickups and Van				CONTRACT NO.:	H-12-060R		DATE OPENED:	2/22/2012	
					FOB:	Stat	ewide	PAGE:	6 of 8
	P. O. E Bentor Rick La 501-31	6-4400							
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	ENGINE MODEL	DELIVERY	ADDITIONAL UN	IT PURCHASES
1.	49	16,490.00	808,010.00	Ford 2012	F150		90 Days ARO	2012 Fleet Order Co	utoff
2.	6	16,753.00	100,518.00	Ford 2012	F150		90 Days ARO	2012 Fleet Order Co	utoff
3.	20	19,837.00	396,740.00	Ford 2012	F150		90 Days ARO	2012 Fleet Order Co	utoff
4.	11	22,227.00	244,497.00	Ford 2012	F150		90 Days ARO	2012 Fleet Order Co	utoff
5.	1	21,268.00	21,268.00	Ford 2012	Econoline		90 Days ARO	2012 Fleet Order Co	utoff
		TOTAL:	1,571,033.00						
								CARD:	00-25
	ΑV	VARDED BY:				DATE:			
		ITEM(S):				_			
	Δ۱۸	ARDED TO:							

Form P-359 Rev. 12-19-2007

DESCRIPTION: 1/2 Ton Pickups and Van					CONTRACT NO.:	H-12-060R		DATE OPENED: 2/22/2012		
					FOB:	Stat	ewide	_ PAGE: _	7 of 8	
VENDOR:	P. O. E Bentor Rick La 501-316	6-4400								
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	ENGINE MODEL	DELIVERY	ADDITIONAL UNI	T PURCHASES	
1.	49	17,671.00	865,879.00	Dodge 2012	Ram 1500		90 Days ARO	2012 Fleet Order Cu	t Off	
2.	6	17,927.00	107,562.00	Dodge 2012	Ram 1500		90 Days ARO	2012 Fleet Order Cu	t Off	
3.	20	18,682.00	373,640.00	Dodge 2012	Ram 1500 Quad Cab		90 Days ARO	2012 Fleet Order Cu	it Off	
4.	11	21,660.00	238,260.00	Dodge 2012	Ram Quad Cab 1500		90 Days ARO	2012 Fleet Order Cu	it Off	
5.	1		N/B	-						
	•	TOTAL:	1,585,341.00							
								CARD:	00-25	
	AV	VARDED BY:				DATE:				
		ITEM(S):				_				
	ΑМ	ARDED TO								

Form P-359 Rev. 12-19-2007

		DESCR	RIPTION:							
1/2 Ton Pick	cups and	l Van			CONTRACT NO.:	H-12-060R		DATE OPENED: 2/22/2012		
					FOB:	State	ewide	PAGE:	8 of 8	
	15400 Little F Will Al 501-57	0-3727	11							
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	ENGINE MODEL	DELIVERY	ADDITIONAL UN	IT PURCHASES	
1.	49	17,767.00	870,583.00	Ford 2012	F-150		90 Days ARO	Balance Out Model	Year	
2.	6	17,554.00	105,324.00	Ford 2012	F-150		90 Days ARO	Balance Out Model	Year	
3.	20	20,709.00	414,180.00	Ford 2012	F-150		90 Days ARO	Balance Out Model	Year	
4.	11	23,216.00	255,376.00	Ford 2012	F-150		90 Days ARO	Balance Out Model	Year	
5.	1	22,594.00	22,594.00	Ford 2012	Econoline		90 Days ARO	Balance Out Model	Year	
		TOTAL:	1,668,057.00							
			-					CARD:	00-25	
	A۷	VARDED BY:				_ DATE:_				
		ITEM(S):				_				
	ΑV	VARDED TO:								